Major, CSL630, 120 mins, 60 marks, Entry No.
Please write answers in the space provided. No extra sheet will be given.

Some coins are spread in the cells of a n x m board, one coin per cell. A robot, located in the upper left cell of
the board, needs to collect as many of the coins as possible and bring them to the bottom right cell. On each
step, the robot can move either one cell to the right or one cell down from its current location. When the
robot visits a cell with a coin, it picks up that coin. Devise an efficient algorithm to find the maximum number
of coins the robot can collect and a path it needs to follow to do this. (10)
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